=LPDB

*UXSD 5RINiDG )$ 5

7\J

o
™
=
n
oD
D
™
o3
7N 7N 7N
£
= 31-$ DQDIID L SVDQIH 31-$ JDPDAND IRQHIAND IE]\ND )
Q IHNVIX GU'=DVDGD 2VNDU SIDNINF]QD PJU . DIRE DQJHWNIHIR PJU - DIRE
n =% )$5 = -XVINQD =% )$ -XVINQD =% )$
5 ot 5 ot
7N 7N 7N 7N 7
7N 7N
+LVIRUD WHUDIXI =UXJLIE]\N REF\  IET\N -C]\NRIQDZVIZR *DPDI\ND RSIVRZD 3HUIVRQDIDFID SURFHVX
DQJRIEI\NFIQHI FZ Gl QHPIHFNL iz PJU VIRVRZDQH 0Z GU ICT\ND DQIIHVNIHIR (Z *DPDIND NV]IDIF QDXFI\FIHL ] 31-$
%QFT\N 203D =% 6]\PD ODUXV] =% SRNRV]HZVND Gl GiDEREVND 210D =% RSIVRZD HIHPHQ IXIRUQJX GU VSUDZQRGFL
)$5 = $5 - _DIDUI\QD =% $5 - IET\ND %QFT\N 200D =% 1LQIHIIRZD
$5 & 1-$ DOJLHIVNIHI )$5 & 1-$ QH PJU
7N 7N 7N ROZ G 8&.81$5 33. JHGQUFTHN
~C]\NR]QDZVIZR ~C]\NR]QDZVIZR ™ GDEREVND S $JDID =D
VIRVRZDQH 0Z Gl VIRVRZDQH 0Z Gl _ 31-$ NRQZHWDFH PJU 203D =% N CFIDRQ
SRNRV]HZVND SRNRV]HZVND BSHFIDIVINFTQN IGT\N 2IHNVIDN $QJIHIND =% *UDPDI\ND RSIVRZD lH )%
_DIDUT\QD =% _DIDUT\QD =% IXUVINL L UHNGHDFIL Py ¥$5 - )85 IE]\ND DQIIHVNLHIR Z 5 =
)65 & 1-$ )65 & 1-$ /HGQF]HN $IDID =DICFID : 30RI GU KDE SIDIIRUPD H
RQIQH )$5 & 7N —~ YHIZIDF]RQHN QDXND
7-6 GSHFIDLVINFTQN ICT\N ")AngéwDZ&'g o
) " :
SIDIIRUPD H QDXND E:]D%"F'{VET,NBZZO JGDU =0 31-$ NRQZHIWDFH PJU
% Y85 & 2IHNVIDN $QJIHIND =% 7\G] 7\6]
a 7-6 )$5 - *DPDINND RSIVRZD *DPDIND
= ’ : ICT\ND DQIHIVNIHJR (iZ RSIVRZD
& Sﬁgﬂe;(wt-\zﬂ%u”c]\h‘ N I G GiDEREVND 20dD =% IET\ND
14 6iDEREVND 203D =% _CJ\NR]QDZVIZR 31-$ VSIDZQRER )$5 = DQJLHVNHI
> Y5 & VIRVRZDOH 62 6l 1QHIRZDQH PV RZ 3IRI
76 BRURVIHZVND 7HGQIFTHN $JDID =DICFID 7\6] GU KDE
_DIDUT\QD =% RQUQH  )$5 = 31-$ VSUDZQRGFL %HUZIDF]R
7N $5 & 1-$ SIDIRUPD H QDXND TQIHIRZDQH PJU OHN
A hiadiy %RIXVIDZ
*UDPDINND RSIVRZD 7HGQF]HN $IDID =DICFID k
ICT\ND DQIIHVNIHIR (Z ] ROIQH  )$5 - 365
Gl GiDEREVND 210D =% A *DPDI\ND RSIVRZD SIDIRUPD H QDXND &2 7.6
$5 - 1 ICT\ND DQIHIVNIHJR (Z
*DPDIAND GU GiDEREVND 21D =% nJ
7\6] RSIVRZD %5 - 7N
*UDPDIND RSVRZD “[%J\m?VNLH 3 el 3HUVRQDI]DFID SURFHVX
GZ GU 6iDEREVND 203D RZ 2RI 31-$ NV]IDAF QDXFI\FLHIL ]
=% )$5 - G *UDPDINND RSLVRZD VSUDZQRGFL HIHPHQ IXIRUQJIX GU
¢ ”HKU%EDF Q IET\ND DQIHIVNHIR Z LQIHIRZD WOFIW 210D~ )$ 5
YLHIZIDF] 3(RI GU KDE QH PJY 8 1.% 88.8 185
O %HIZIDFJRQHN JHGQIFTHN 33,
%RIXVIDZ %RIXVIDZ = ( $IDID =%
C 65 $5 -
D )$ 5




=LPDB

IEXPDFJHQIRZ\FK Z GU

6SHF QDXF]\

6SHF QDXFJ\ 3RGVIZD\ SHGDJIRJIN.
GID QDXF] VINyi SRQDGSRGVI Gl . IHiE

SHVIND $JQIHVIND =DIC
FDRQIQH )$5

GU SHVIND SJIQHVIND %L
J %0XH %XIIRQ =DICFID
RQUQH )$5 &
7-6

2UJIDQLIDFID SUDF\ VINRA | |BIDUFJHZVND (ZD OLFURVRII 7 ($06
1 HHPHQIDPL GU =DICADRQIQH )$5 & 1-$
*IR]GHN ODIRIHSV]D 7N )5 =
7HIHVD =DICFDRQUQH | [8&.8 135 333
$5 & 1-%
)5 : 8&.81% 7\6] 7]
5 23 - VICS GR = SIRZDG]HQH GR
H IHDUQLQJ SUJHN:DGR]QDZVIZD Z VIUDIHILL

I5XPDF]HQRZ\FK Z GU
SHVIND $IQHVIND %L
%IXH %XIIRQ =DICFID RQ
IQH )$5 & 7-6

& 7-6

*UXSD 5R]NiDG )$5 7\J
7\6]
*DPDIND
RSIVRZD
IET\ND
DOJLHIVNHI
RZ 3Rl
a Gl KDE
@ %HIZIDFIR
i QHN
= %RIXVIDZ
)$5
7\6]
31-$ NRQZHWDFIH PJU
2IHNVIDN $QIHIND =%
)$5 -
7N 7N 7N 7N 7N
A 6SHF QDXFJ\ 3RGVIDZ\ SVAFKRIRJLL 6SHF QDXFJ\ 3RGVIDZ\ SHGDJIRJINL 6SHF QDXF]\ 3RGVIDZ\ SVAFKRIRJLL
7iXPDF]HQD 7iXPDF]HQD 1 GID QDXFINFIHL GUKDE 1DSRUD GID QDXFINFLHL V] GU . IHiE GID QDXFI\FIHL GUKDE 1DSRUD
NRQVHNXINZQH PJU NRQVHNXINZQH PJU - VICS GR (TEHID =DICFDRQUQH  )$ 5 GIDUF]HZVND (ZD OIFIRVRII 7 ($06 (TEHID =DICFDRQUQH  )$ 5
JHGQLF]HN $IDID =DICFID JHGQLF]HN $IDID =DICGFID SUJHNiDGR] & 1-$ :)5 = 88.81%5 =DICFDRQUQH )$5 & 1-$ & 1% :)5 = 88.81%5
RQIQH )$5 & RQIQH )$5 & QDZWIZD 3313 )5 - 8&.81$5 333 3313
7-6 7-6 Z Gl
) ) SHVIND 7N 7N 7N 7N
SIDIRUPD H QDXND SIDIRUPD H QDXND SN
7\G] 7\G] EA’LJ”‘%“XH +VIRUD (HUDIXI 3HWRQDILIDFID SURFHVX 3HWRQDILIDFID SURFHVX 31-$ VSUDZQRGFL
- WES GR - SIRZDG]HQH GR YXIIRQ DQIRIEINFIQHI Z  GU NV]IDiF QDXF\FLHIL ] NV]IDiF QDXF\FLHIL ] TQHIRZDQH PIU
Mt ‘ P =DICFD RQ %OFT\N 20D =% HIHPHQ IXIRUQJX GU HIHPHQ IXIRUQJX GU 7HGQLFTHN $IDID =DICFLD
SUJHN:DGR]QDZVIZD Z VIUDIHJLL H S b C
) $5 - %QFT\N 200D =% %QFT\N 20D =% RQIQH )$5 =
GU SHVIND SIQUHVIND %L IEXPDFIHQRZAFK Z  GU 5 & . .
J %IXH %XIIRQ =DICFLD SHVIND SIQHVIND %L 7.6 )$5 - 8&.81% )$5 - 8&.81% SIDIIRUPD H QDXND
RQUQH )$5 & %IXH %XIIRQ =DICFLD RQ 7\6] 5 33. 5
7°6 WH )$5 & 7-6 N = SIRZDG]HQIH GR ING] PLQ 7\6]
, VIUDIHJLL
a - VICS GR 3HVRQDLIDFID SURFHVX
2 7N SUJHN:DGR]QDZVIZD Z gﬁ?]ﬁ%é@ﬁﬁosz ' NV]IDiF QDXF\FLHL ]
= 6SHF QDXFJ\ 3RGVIDZ\ SHGDJIRJINL GUSHVIND SIQUHVIND %L X YXIRG <BICFD R HIHPHQ IXIRUQJX GU
[G] GID QDXF]\FLHL V] GU .LHE J %0XH %XIRQ =DICFLD OXWRQ = Q %LQFJ\N 203D =%
I BIDUFJHZVND (ZD =% )$5 RQIGH  )$5 & hH )$5 & 7-6 Y$5 - 8&.81%
(O & 1-$% )5 =: 8&.8 7-6 G 5 33.
1$5 333 7\G]
= SIRZDG]HQH GR
7N 7N VIUDIHILL




*UXSD 5R]INiDG

=LPDB
)$5

7\J

QLHG]LHOD

7N\J

6SHF QDXFJ\
2UJDQL]DFID SUDF\ VINRi\
] HHPHQIDPL GU
“UR]JGHN ODiRIHSV]D
7HUHVD =DICFLD RQ 0.QH

)$5 & 1-%
:)5 - 8&.81%
5 23

- 8&.81%5 3313

ING]LHE

7N\J
6SHF QDXF]\ 3RGVIDZ\ SV\FKRIRJL
GID QDXF]\FHIL GU OINIHZVND
$IQHVIND PJIU .HLEVND -XUliID =%

& 1-$ :)5

PJU - .IHLEVND

7\6]

- SUIRZDG]
HQUH GR
VIUDIHJLL
JEXPDFTHQL
RZ\FK Z
GU SHVIND
$IQHVIND
%L %0XH
%XIRQ
=DICFLD RQ
wH DS
5 &
7-6




